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46.  Write a balanced net ionic equation for the following reactions: 

 a.  HCl(aq) + Ca(OH)2(aq)   

 b.  AgNO3(aq) + AlCl3(aq)  (silver chloride is a precipitate) 

47.  Complete each equation and then write a net ionic equation. 

 a.  Al(s) + H2SO4(aq)  

 b.  HCl(aq) + Ba(OH)2(aq)   

 c.  Au(s) + HCl(aq)   

48.  Write a balanced chemical equation for each reaction. 

 a.  Bubbling chlorine gas through a solution of potassium iodide gives elemental iodine and a 
solution of potassium chloride. 

 b.  Bubbles of hydrogen gas and aqueous iron (III) chloride are produced when metallic iron is 
dropped into hydrochloric acid. 

 c.  Solid tetraphosphorus decaoxide reacts with water to produce phosphoric acid. 

49.  Each equation is incorrect.  Find the errors, then rewrite and balance each equation. 

 a.  Cl2 + NaI  NaCl2 + I 

 b.  NH3  N + H3 

 c.  Na + O2  NaO2 

50.  Write balanced chemical equations for these double-replacement reactions that occur in aqueous 
solution. 

 a.  Zinc sulfide is added to sulfuric acid. 

 b.  Sodium hydroxide reacts with nitric acid. 

 c.  Solutions of potassium fluoride and calcium nitrate are mixed. 

51.  Write a balanced chemical equation for each combination reaction. 

 a.  sodium oxide + water 

 b.  hydrogen + bromine 

 c.  dichlorine heptoxide + water 

52.  Write balanced chemical equations for these single-replacement reactions that occur in aqueous 
solution.  Write “no reaction” if a reaction does not occur. 

 a. Steel wool (iron) is placed in sulfuric acid. 



 b.  Mercury is poured into an aqueous solution of zinc nitrate. 

 c.  Bromine reacts with aqueous barium iodide. 


